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My Test is On:

Unit 2: Equations and Inequalities STUDY GUIDE

1. The V33 is between what two

numbers? -85 +x) = "
- - - - t
\%’5 \Yffé Betwen Nt el
Y sede o, ey s
—i;x:sq = -

2. Solve for x.

3. What value of x satisfies the equation?

X=14=% X =1l

4. Explain why 7 is the best whole number estimate
ofV51. &\ SKS betoern Y49
cund (o4 OT \S Closer

Yo ¢4
J49= % Jou=8
c\osex” '

5. What is the solution to the inequality?
2x + _’;’ > —11
-7 -1
X s X%
=z 2z ’

6. Simplify ¥64.

4

7. Morgan already has the following test

8. Represent the following statement:

scores:(98%87¥93)and(0D If she wants Mot = S
her test be a(03) what score a number x@ 9 x
_ must she earn on her next test? Cf(p% -q.
ooy [AB487tA8LAI4X .z i_ OX=9tX
5
+est A+ X =Hb5
SN2 12 209+X _q3(5) —f’s_wq - 364 -
el X =90 + MO, Vaviable,
9. The length of a rectangular garden is 10. Iﬂéﬂmore thamfZ}-imes|a number asl-24) what is
its width, w. The|perimeter pf the the number? Write and solve an equation to find
garden is@b6 feet. What is the length of the number. 2l +3xz-24
the garden? o w=9% o ¥ = 2 nomber -2\ -2\
ws= w"d'l‘h T""—"‘ U.D'-'-‘\(.p*"-\' " q A% = .-U‘S
zu%-:un @ 21 + BK=-2 =5 3
e '
s Pva i into 2w o=

2wz 20¢) =

11. If x3 = 27 and y3 = 216, what is the value
of x —y?

. .\- .
12, Bunn'’s Cakes charges($4¥peTlpersonfand(a($25)
set-up fee to design a cake. Write an equation to

3. 3 TR MR | £ theffmber of zuests (that could eat cak
X'=21 Y =2l C‘;“?_,a 2‘;%"* at the party if they have a buc'igei ogi )
x.: 3 - (D Ao W2 « cake.
X__i\ \:': %z nomber of guests
—t
_ 4+ 25= 1424
0= 40N L3

4 4
K =351
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13. Joe is saving to buy a telews1on that
costs(@
saved. H
each wee
Joe to have $1150 saved?

Xz of weeks

5%+ V15=150
Sx__ i _-\15

N

RK=\D

\3
weeKs

—

Thelsum]oﬁhreeﬁonsecutwe even}mtegers is -
What is the value of the smallest of the three

_ 1ntegers? Set up and solve an equation to find your

answer, .‘.2 -‘- +
\('\'2-’ M\dc\\ﬁﬁ - "(0
¥#uz \argest ¥ 3% =0
2 3
Smalless 4 X =20
'S 20

15. What is the solution to the inequality?

~4(2x + 3)-~10x > 14(x-8) + 3x

16. Suzie’s test scores ar¢/90¥03) 85} 87) and

What is the lowest she can Score on the next test

to achieve an average oi at least{a(G03

-tz plog7(ax q°+q3+8tf+87*?g+x>qo
—}3&-\2? VX -\ g THE YRV,
- -\I% =AM
-~ 35X -\27 "~ \\7- 20 = g o x 237
e [ gpecfs (mms
S i3 | ™03

17. Which of the followmg equations gives a
solution of “no softiion?”

3x+% =9
3& =0 K=

iﬁ+7ni§§+14 -1 =14

Cdx +3 =—4x + 3

e S

A3x+3) =9

&

18. Which of the following equations gives a
solution of “all real numbers?”
Rt3 = ~UX43

A3x+3) =09 “puax tax

- | RYA3=- 3
B.—2x +7 = —2x + 14 -3 -3
BR=C
Cd4x + 3 = —4x + 3 K=0

—""x—3=x—3

@Z (W} (@

20. Translate to an equation and solve to fin throe

Teonsecmiveintegers whose

F =

10 5 2 5 Xz 15'\'# -19
X t4 =5X-b Wy = 2nd 2t 18 O Ak £+ xtd)=-54
- ML %2 22%g -1 BX43=-54
X+ = -0 ~3 s
L Eoe-n) TS
¥ = -0\ ]
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21. If thefsumjof tﬁ;ee onsecutive odd 22, Thellength) : ore tharkiwicelits
integers 1stat most 65, )what 1s the largest 1g {perimeteryis(oft. Find its
of these three integers? Set up and solve dimensions.
equation. O+ ' Draworuse P = 2L + 2W
VERLAE - 53 \ ;7\"’23"((;““1)5 \5 W= Lot 0 W (00
wazz Mg 55 SR ‘(‘;—-WS axzuw= @nagth b -
\L-’r'-l=3'(d‘.\t 51 4_“0 242w w=54 ‘_%gi\ |
- i o f, 343
W z 3.\.2(? |
r".\L\M et X453 wrdth =g {4 Y|\ |
12 57, Wngth = 2V &+ 2
Make sure to label your answers and use the
correct units.
23. : 24. The equation below is used to find C, the
A. Solve the inequality: 6r — (3r + 2) > - 35 total cost for printing a quantity of books, b.
' , C=3b+150
B. Name three possible solutions to the & Write an equivalent equatiQn that is solved for b
inequality. 32 -33 interms of C. (=~ 2\ _&3}\
oy -(3r+)2-35 3 3 - \50 - \
- - .? - 7 -
B3¢ -*_2?-_.. e Tposs(b\e So\lohions
3v2-33 -V,-%,0

25. Solve for hif A = %bh."

() A=EbN Y 3x—4y=12
Z A=%h =28 -gxq :3%)&-\-\2.
b s o R
V923 %-2|

26. Solve the following equation for y:

4~ total SW

3+ %t Pt "D

27. The total number of students who could attend a field trip is represented by the variable t. The
number of students in Group A is greater than the number of students in Group B. Group A has 3

students more than % the total number of students. Group B has 4 less than the total number of
students. Write an inequality to represent this situation. DO NOT SOLVE.




